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— NSOt SHE SAX

S e(14e)

36,400,000

EUNE

43
43

,700
,700

36,400

18,200
18,200

46,900

A 3,200
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2N FOUOMET A
HE: GHSSNLUHASSHR
G QLESOISANE XA (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— XNE0lsSHE @ el X2 (500 2)
7,300,000 7,300
< 2,190
= 5,110
SIAOISRE XS 35,000 20,000 15,000
= 3,500
= 31,500
301 LBt A= 35,000 20,000 15,000
= 3,500
= 31,500
01 Al E & A %52 35,000 20,000 15,000
CHEXZAY 35,000
— A0S NHPIRI 5,000, 0002 +7% 35,000
= 3,500
= 31,500
OSEXNALS YN 60,740 55,540 5,200
< 30,840
= 29,900
301 YptE A 940 940 0
o= 940
01 AISIE& A %52 940 940 0
OZHIEXZAY 940
—RESOIsS A2 940,000& 940
o 940
307 2I2+0 & 59,800 54,600 5,200
=} 29,900
= 29,900
11T A EXAIEEX 59,800 54,600 5,200
OZHIEXZAY 59,800
—OlSEXNANESAIAL = (23H)
59,800,000 59,800
= 29,900
= 29,900
YU X3 13,640 13,965 AN 325
= 5,064
= 8,576
301 Bt A= 13,640 13,965 AN 325
= 5,064
= 8,576
01 AISIE & A 462 13,640 13,965 A\ 325
OEHEZAY 13,640
—JIE8E30ts 2A4H X&
20,000& ~28AI CH*x12& 6,720
= 2,688
= 4,032




2N FS
=EIRNVEE
RE

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

—JIEES0tS M=Hl X&

140, 000& =28 Al CH 3,920
1,176
2,744

M H

— 2850 12 1IXHAHI| ASHIXH
600,000& » 1 600

240
360
Sep=0ots E MY X 2,400,000 2,400
960
1,440

M H

M

NASSOISNEAY 4,800 4,800 0
960
3,840

M H

301 2ELE A= 4,800 4,800 0
960
3,840

EUNLY

MIIEtEY = 4,800 4,800 0
TAY 4,800
I 2SHl(24Y) 4,800,000& 4,800

960
,840

A H
w

Olelole AMXE 1,667 1,667 0
500
167

M H

307 21201 A 1,667 1,667 0
500
167

EURLY

04 SIZH#AFA RS B & 1,667 1,667 0
o 1,667
—Ol2I0lY BAX 2 1,667,000 1,667

500
1,167

EURLY

AEtsEsdE2I& 29 28,832 25,342 3,490
14,416
4,325
10,091

M H

307 21201 & 28,832 25,342 3,490
14,416
4,325
10,091

MW

10 A SAAEHE2SEHIEX 28,832 25,342 3,490
O=HIEx= ALY 28,832

— SNBSS ESEEI 223

28,832,000& 28,832

14,416
4,325

Mo
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SH: FOIMBIHA
HEM: HEdsEINLLHASSANE
G QLESOISANE XA (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| | | o 10,091
222 LA 3,000 3,000 0
& 2,100
= 900
SSCH XA 3,000 3,000 0
= 2,100
= 900
SE2XAE 3,000 3,000 0
= 2,100
= 900
307 212t0| & 3,000 3,000 0]
o= 2,100
= 900
01 s =l 3,000 3,000 0
OZHIEXZAY 3,000
—SERZIZH(ES)I24| 300,000& x10H 3,000
= 2,100
= 900
THEES(FoMET AL 338,696 315,575 23,121
WHEAHAH XK= 338,696 315,575 23,121
S| H 2 A= 2e 338,696 315,575 23,121
701 JIEISI HSEES2 338,696 315,575 23,121
01 JIEIS HE =2 338,696 315,575 23,121
O9gz3202I2 583 HE=2(X2H £) 338,696
-9 =220 =4l 329,696,000 329,696
— oS3 HZ2A = 9,000,000& 9,000
HESHAY (FOMET A 120,695 120,860 A 165
Jleddl 120,695 120,860 A\ 165
Jl2 &4l 120,695 120,860 A\ 165
201 LBt 9| 59,600 59,600 0
01 AP 22| d| 59,600 59,600 0
OBA=SN 1,831,000& x28H 51,268
OF=1=1:] 7,000 x28H x5! 4,900
OF1NEE2AD] X2 286,000 x1CH*x12& 3,432
202 044 53,760 53,760 0
01 2L bl 53,760 53,760 0
O2LH Yl 110,000& 282 x12& 36,960
O&2 bl 75,000& 28 x8L 16,800
203 €2 F=&d| 7,335 7,500 A\ 165
01 J| 2 2HHR=XH| 3,135 3,300 A 165
OJ|&22g9g 2 =& 275,000& = 12& x95% 3,135
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